

$$a = -1 \Rightarrow a - b + c = 9 \quad m, r = 1 \Rightarrow 9a + 12b + c = 1 \quad \frac{0}{a} = -1 \Rightarrow b = 19 \quad \underline{19} - 1$$

$$\Delta a + \Delta a = -1 \Rightarrow a = -\frac{1}{2}, b = -1 \Rightarrow a + b + c = 9$$

$$\Rightarrow -\frac{1}{2} + 1 + c = 9 \Rightarrow c = \frac{11}{2} \Rightarrow \frac{-m^2}{2} - m + \frac{11}{2} = 0 \quad \checkmark \quad \text{ایک یا دو جواب}$$

$$\Delta > 0 \Rightarrow m^2 - 4(m + 4) > 0 \Rightarrow m^2 - 4m - 16 > 0 \quad \text{S.P.} \quad \text{B} \quad \text{1} - 2$$

$$\Rightarrow (m - 12)(m - 4) > 0 \quad \frac{-4 \pm 12}{+1 - 1} \Rightarrow (-\infty, -4) \cup (12, +\infty) \quad \text{اجزاء بائیں صفحہ}$$

$$\alpha + \beta = \frac{1}{\alpha \cdot \beta} \Rightarrow \frac{-b}{a} = \frac{1}{\frac{c}{a}} \Rightarrow \frac{-b}{a} = \frac{a}{c}$$

$$\Rightarrow \frac{-2m+1}{2} = \frac{1}{2-m} \Rightarrow -2m^2 - 2m + 1 = 0 \Rightarrow 2m^2 + 2m - 1 = 0 \quad \text{2}$$

$$\Rightarrow m^2 - m - 1 = 0 \Rightarrow (m - 1)(m + 1) = 0 \Rightarrow m = 1 \text{ or } m = -1 \quad \checkmark$$

$$m_1 + m_2 = 1, m_1 m_2 = -1 \quad m_1^2 + \frac{1}{m_1^2} = A \quad m_2^2 + \frac{1}{m_2^2} = B \quad -5$$

$$\Rightarrow A + B = \frac{1}{m_1^2} + \frac{1}{m_2^2} + m_1^2 + m_2^2 = \frac{m_1^2 + m_2^2}{m_1 m_2} - m_1^2 + m_2^2 = 1 - \frac{1}{m_1^2} = \frac{m_1^2 - 1}{m_1^2}$$

$$AB = \left(\frac{1}{m_1^2} + m_1^2\right) \left(\frac{1}{m_2^2} + m_2^2\right) = m_1^2 m_2^2 \Rightarrow \frac{m_1^2 + m_2^2}{m_1 m_2} = 9 \Rightarrow$$

$$m_1^2 + m_2^2 = (m_1 + m_2)^2 - 2m_1 m_2 = 1 - 2(-1) = 3$$

$$\Rightarrow AB = \frac{1}{3} - 9 - 2 = -\frac{25}{3} \Rightarrow -5m^2 + 10m + 12 = 0 \quad \checkmark \quad \text{3}$$

$$\frac{(\sqrt{m^2} + \sqrt{m^2 + 1})(\sqrt{m^2} - 1)}{\sqrt{m^2}} = 2\sqrt{m} \Rightarrow m^2 - 1 = 2m \Rightarrow m^2 - 2m - 1 = 0 \quad \text{4}$$

$$\Rightarrow S = \frac{b}{a} = \frac{-(-2)}{1} = 2 \quad \checkmark$$

$$P \propto \frac{1}{a} \Rightarrow \frac{1}{a} = \frac{1}{2} \Rightarrow a = \pm 2$$

$$S = \alpha + \beta \Rightarrow \left(\alpha + \frac{a}{\alpha}\right) = \frac{\pm 1}{2} + \frac{a}{\frac{\pm 1}{2}} \Rightarrow a = \pm 1 \Rightarrow \text{اقلیم} \quad \checkmark \quad \text{5}$$

$$c = 0 \Rightarrow \text{V}$$

$$c = 0 \Rightarrow \text{V}$$

$$\Rightarrow \text{[scribbled out text]}$$

$$\frac{-b}{a} \geq 0 \Rightarrow \frac{-(-2)}{1} \geq 0 \Rightarrow \frac{2}{1} \geq 0 \Rightarrow a \in [-5, 5] \quad \text{6}$$

$$\frac{-b}{2a} \Rightarrow \frac{-9}{2} \Rightarrow \frac{9}{2} = 4.5 \checkmark$$

① -8

$$a \times b \leq c \times d \Rightarrow a \leq \frac{c}{b} \times d \Rightarrow a \leq \frac{c \times d}{b}$$

(جواب با این روش)

$$a \times b \leq c \times d \Rightarrow a \leq \frac{c}{b} \times d \Rightarrow a \leq \frac{c \times d}{b}$$

$$\frac{a}{c} + \frac{a}{2a} \leq 1 \Rightarrow \frac{a}{c} + \frac{1}{2} \leq 1 \Rightarrow a \leq 1$$

-9

$$\frac{-4}{2a} \leq \frac{-4}{2} \leq -2 \Rightarrow \frac{b}{2} \leq -2 \Rightarrow b \leq -4$$

$$\frac{a}{c} \leq \frac{-4}{2} = \left[\frac{-4}{2} \right] \leq -2 \checkmark$$

$$S_A \leq P + Z$$

$$S_B \leq K + P \Rightarrow S_A - S_B \leq Z - K$$

$$S_A \leq -4, S_B \leq -2 \Rightarrow Z - K \leq -2 - (-4) = 2 \checkmark$$

$$\begin{aligned} Z, P &\rightarrow 2x^2 + 4x + m \\ K, P &\rightarrow 2x^2 + 2x - 3m \end{aligned}$$

-10

$$\Delta > 0 \rightarrow \frac{-f \pm \sqrt{f^2 - 4ac}}{2a}$$

$$S > 0 \rightarrow \frac{-b}{2a} > 0 \rightarrow -m > 0 \rightarrow m < 0 \quad \text{II}$$

$$P > 0 \rightarrow \frac{m+4}{4} > 0 \rightarrow m > -4 \quad \text{III}$$

$$I \cap II \cap III \rightarrow -4 < m < -2$$

سوال 12

$$\begin{cases} y = 2x^2 + 4x - 2 \\ y = 1 \end{cases} \rightarrow 2x^2 + 4x - 3 = 0 \rightarrow (2x+3)(x-1) = 0$$

$$a = 2$$

$$ab = 1$$

سوال 19

$$\begin{cases} a = 1 \rightarrow A(1, 1) \\ a = -2 \rightarrow B(-2, 1) \end{cases} \rightarrow 1 = -4 + 4 + b \rightarrow b = 1$$